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2000 = =0l & 2 BHa A
SA: BB
My delsdEM s
CHol: BEMH A A3 (Cro): &2l)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
stF2tel 25,713,460 26,176,819 A463,359
= 10,659,710
s 6,391,000
= 8,662,750
Z2ele3dyad 1,022,700 828,700 194,000
= 295,000
= 727,700
SHIAE g5 Zat 1,022,700 828,700 194,000
= 295,000
S 727,700
SFAFEH Y =4 11,400 13,400 22,000
201 B2 9,000 11,000 /2,000
02 =329 9,000 11,000 A2,000
OO0lI2¢dl0l 3l 7,000
OBIJIS0H &3l 2,000
203 EE=&d| 2,400 2,400 0
03 AIHRFAHIFAY| 2,400 2,400 0
OBABYS X 2,400
Hegstdus 2208 29 44,300 44,300 0
= 31,000
< 13,300
307 gIz2tol & 44,300 44,300 0
= 31,000
= 13,300
02 Ql2tAAMEX 44,300 44,300 0
OMggdusoz 18 X 44,300
= 31,000
& 13,300
SEEM A A R UR 51,000 101,000 250,000
307 220l & 51,000 101,000 250,000
02 22tda=gx 11,000 11,000 0
OFE= 244 N8B J2X
=RV 6,000
OzledasE &AIE WA 5,000




SN R
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Sl BEHE Y A3 (9l &8
_ _ SIEN
M- F= - S2(3H) - MRAY - BES Abod e HlnE2
04 SIZFHAEE 40,000 90,000 50,000
OHABHBY 40,000
254 =1y 220,000 220,000 0
307 QI2H0IF 220,000 220,000 0
(2 2I2FAEZR 220,000 220,000 0
OZEEY2 170,000
OBARH o 50,000
SEEPIES Y 250,000 250,000 0
307 QI2H0IF 250,000 250,000 0
(2 Sl2rFAER 250,000 250,000 0
OETEE =Pl 250,000
e EENERESS 446,000 200,000 246,000
= 264,000
= 182,000
207 ANl 200,000 0 200,000
= 100,000
= 100,000
NEEEET 200,000 0 200,000
OJlzeist 5 200,000
2 100,000
= 100,000
308 KHXISHSOIH 246,000 200,000 46,000
=2 164,000
= 82,000
01 RASHMBLRES 246,000 200,000 46,000
OBATQIERE Alg 96,000
2 64,000
< 32,000
OIS BSHHR AIQET (I A 5000
=) 150,000
2 100,000
= 50,000
Roisy 25 10,786,449 1,200,229 ~413,780
=2 527,710
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sF 2|t

M XHSE 25
ol NelE 25 (cre) m el
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
g 6,391,000
= 3,867,739
ANAEH B35 10,786,449 11,200,229 N413,780
= 527,710
g 6,391,000
o= 3,867,739
MO 222l AHS X3 825,420 773,000 52,420
= 412,710
= 412,710
308 AHXIEHHMSOIA 825,420 773,000 52,420
2 412,710
= 412,710
01 XXNHHBAEXZ 825,420 773,000 52,420
OMECIS el A<k 1,375,700,000& *60% 825,420
= 412,710
& 412,710
OFM=SZ= LIoHO A XI& 127,500 162,000 A 34,500
= 85,000
= 42,500
403 XXISHHSA20|H 127,500 162,000 A 34,500
= 85,000
= 42,500
01 XXESHA=2EX 127,500 162,000 34,500
O0t==2 TIoHuEAIE XA
283,333, 000& *45% 127,500
= 85,000
o= 42,500
NASFEHOISAE &X XA 7,372,300 7,066,500 305,800
g 6,391,000
= 981,300
403 XXISHHSA20|H 7,372,300 7,066,500 305,800
g 6,391,000
= 981,300
01 XXESHAE2EX 7,372,300 7,066,500 305,800
O 40t MEHZRSIAIS
4,800,000, 000& *65% 3,120,000
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g gsEd B
ol NelE 25 (cre) m el
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
s 3,120,000
OtEs NHMEHSR LAY
1,000,000, 000& *65% 650,000
P 500,000
= 150,000
O=2 MEHZBRSALS 2,200,000,000& *65% 1,430,000
Py 1,100,000
= 330,000
OB+ AT MEHDRSHALYS
498,000,000 *65% 323,700
s 249,000
= 74,700
OFAHHE MEHSY &MY
844,000,000 *65% 548,600
s 422,000
= 126,600
OHI| DMKl MEHSRSALS
2,000,000, 000& *65% 1,300,000
s 1,000,000
= 300,000
OHEs=E AT 22MA 2= 60,000 55,000 5,000
= 30,000
= 30,000
307 glz2told 60,000 55,000 5,000
= 30,000
= 30,000
02 glztFaEx 60,000 55,000 5,000
OSEHE tds=24dH 2 60,000
= 30,000
= 30,000
AAsZeted AL K& 10,000 50,000 40,000
307 QI2t0IA 10,000 50,000 A 40,000
04 BIZtHALE X 10,000 50,000 240,000
ONAESEHELILI|IGAHA S K& 10,000
S NHASE AL 1,000,000 700,000 300,000
207 SO 300,000 0 300,000
01 A1E9| 300,000 0 300,000




A EE 22

& NHEE BS
©?e: ANHEE 25 (Ste &)
_ _ ME
2N -3 - c2(3H) - NEME - HES 01l A+oH loﬂli\_Fo” Hns2
OZE NHSHZAL HR=2H(3XH) 300,000
403 NXIESHXHSAH20IH 700,000 700,000 0
01 XXHMIA=2E X 700,000 700,000 0
OMEN(HIRE)XNE HE
300,000,000 *7IH Al =2 %1/3 700,000
OIMS=Z2ESAtY X3 41,229 43,729 2,500
308 AXIEHXMISOIA 41,229 43,729 2,500
01 AXHMBMNEEXS 41,229 43,729 A2,500
O0t=s=2 253 B
3, 153,600& * 162! *50% 25,229
OF4 OMs= &z
2,000,000& 16 Al =2 *50% 16,000
SE3SAMNY & 22 XA 1,350,000 2,350,000 21,000,000
308 AHXIEHXMISOIA 350,000 350,000 0
01 AXSHMBIMNEEXS 350,000 350,000 0
Oz g2 2eld Hixi(132) 350,000
403 XXX SKH201H 1,000,000 2,000,000 21,000,000
01 XXSHMIA2EX 1,000,000 2,000,000 A 1,000,000
OS23RN (3MA) 2,000,000, 000& *50% 1,000,000
MEZE 2 2,609,242 2,382,560 226,682
= 471,000
== 2,138,242
CHol& el 2,432,930 2,115,500 317,430
= 471,000
& 1,961,930
AN REYEZ WS 1,620,000 1,575,000 45,000
308 AHXIEHXMISOIA 1,620,000 1,575,000 45,000
02 =23 1,620,000 1,575,000 45,000
Oostd3iEsg=2 1,800,000, 000-& *90% 1,620,000
BEIHERNU=2 1R 56,430 56,250 180
308 XXIEHHMSOIA 56,430 56,250 180
02 A=+u=2R3 56,430 56,250 180
Ot ER U=
125,400, 0003 *50%*90% 56,430
HANAX S B2 XN 706,500 424,250 282,250
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M MEDH 22

e o2 2el (chel &)
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
HHAINAXSI 22 K& = 471,000

& 235,500
403 XXIEMS K201 706,500 424,250 282,250
2 471,000
= 235,500
01 XXIEHX2EX 706,500 424,250 282,250
OFANAX S ESAY 706,500
= 471,000
& 235,500
ANBIEAIEE JIsiE 50,000 60,000 210,000
307 glz2told 50,000 60,000 A 10,000
02 QUAFAESX 50,000 60,000 210,000
OZHNHHEALE JI=XE 50,000
SEE zZtel 176,312 267,060 A90,748
SEIUEAIE 2tel 49,200 59,500 A 10,300
201 Lt 2,000 2,000 0
01 At 2eld] 2,000 2,000 0
OtiZgA 322 =g ME S 2,000
202 O4dl 23,600 20,000 3,600
01 AL 23,600 20,000 3,600
OB EAE E2 2= 23,600
301 ptsaazg 5,000 20,500 215,500
12 JIEI2 A3 5,000 20,500 A 15,500
ORIZtEHEHI2te =g &s8E 3,000
OB AlN(128) ZaZ2 2,000
405 KHaHE S| 18,600 17,000 1,600
01 T =ESHSHI 18,600 17,000 1,600
OCEHE=ZE WIII2E SFIIJI 18,600
-IHH=H 0| 600
-JIASED| 18,000
AHBSZZAIE 4 127,112 207,560 280,448
307 QI2t0IA 5,000 5,000 0
02 QtFAE X 5,000 5,000 0




SN BRI
My M el
el BAQH B (sl a e
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OAHEEZAIY = 5,000
308 AHXIEHH SOl & 122,112 202,560 80,448
01 AXSHHIABELEZ 122,112 202,560 A 80,448
OAHSZANE 2
20,000 21221 %96 3| *30% 122,112
HIoIZ22 &N Hel & & 11,208,069 11,674,254 N466,185
= 9,366,000
& 1,842,069
HIl=22 oHEHHe L 22l 11,208,069 11,674,254 A466,185
= 9,366,000
= 1,842,069
SEHHIY =HEN=Z XS 840,000 920,000 80,000
= 420,000
== 420,000
308 AHXIEHXISOIA 840,000 920,000 80,000
= 420,000
= 420,000
01 XXNHHBIAZXZ 840,000 920,000 A 80,000
OsZHHY =HEANZ X3 840,000
= 420,000
= 420,000
SHEHIISES HelAlE &X XS 1,500,000 1,500,000 0
= 750,000
== 750,000
403 XNXESHHSA=20IN 1,500,000 1,500,000 0
= 750,000
= 750,000
01 XXSHHMA=2EX 1,500,000 1,500,000 0
OsOHZEHIISESEHMEIAE EX(2HA) 1,500,000
= 750,000
== 750,000
HIfI MO0 Xl &dl X3 777,000 1,225,000 448,000
= 777,000
403 XXISHHSA20|H 777,000 1,225,000 448,000
= 777,000
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& HIIS29 ¢HEA XHel 2 el
el HOl2o otEmF el U 2zl (oA
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
01 XXSHA=2EX 777,000 1,225,000 A448,000
OHIAMIHE X HYIAFE (200 4) 777,000
= 777,000
SZ2MHEZ2D|EAIE &= X 266,000 1,140,000 A874,000
= 266,000
403 XXISHHSA20|H 266,000 1,140,000 A874,000
= 266,000
01 XXESMA2SEEX 266,000 1,140,000 A874,000
OBSHESHEAIL &5 (201A)
886,666, 000-& *30% 266,000
= 266,000
HIISMHEAE X A3 4,133,000 2,414,100 1,718,900
= 4,133,000
403 XXM SK201H 4,133,000 2,414,100 1,718,900
= 4,133,000
01 XXESHMA2EE 4,133,000 2,414,100 1,718,900
QHIISHEAIE AXI(3MA) 4,133,000
= 4,133,000
A2HAIE AX K& 2,770,000 4,000,000 A 1,230,000
= 2,770,000
403 XXM SKE0lH 2,770,000 4,000,000 A 1,230,000
= 2,770,000
01 XXSHA=2EX 2,770,000 4,000,000 A 1,230,000
OA2ZAIE AXIAFS (20HA) 2,770,000
= 2,770,000
HIIE2+H ¥ &S 97,069 95,154 1,915
308 X XIEHSOIH 97,069 95, 154 1,915
08 JIEIREE= 97,069 95,154 1,915
Osorely slaAte 223
323,563, 000& *30% 97,069
MAHDIMel & HelAld X3 575,000 100,000 475,000
= 250,000
== 325,000
308 AXIEHSOIE 575,000 100,000 475,000
= 250,000
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e HOI2C OHEE Hel Y el
ool HOIZO AFNHel L e (B9l &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
308 KHXISASOIH = 325,000
01 XXSHMBLRES 575,000 100,000 475,000
O35t £RMI Hel
100, 00024 %5,000E *75% 375,000
2 250,000
= 125,000
OZerzrgl 40| MelXe 200,000
sexasl 243 250,000 280,000 30,000
308 XXISASOIH 250,000 280,000 30,000
01 XXSHMBLZES 250,000 280,000 30,000
OsSRI| £HLAD 250,000
HH2YAY(BAR2D) 87,000 91,076 ~4,076
TR 4,200 4,200 0
olz2 Y (B D) 4,200 4,200 0
203 AREXY| 4,200 4,200 0
04 SASYAL=Y| 4,200 4,200 0
OCEEREI=EES 4,200
o=l 82,800 86,876 A4,076
[EEL 82,800 86,876 A4,076
201 gr2g| 41,400 45,476 A4,076
01 A2zl 41,400 45,476 A4,076
OPRL RFT 41,400
202 o1l 41,400 41,400 0
01 =Lfoid 41,400 41,400 0
oA LRFT 41,400




